01022003

support

SL235RA




No. Article No. |Description
1 TOP30159 |strap 100x440
2 TOP80801 |fixation ring for shaft
3 TOP30158 |[support shaft swivel arm d40x125
4 TOP30160 |strap support
5 TOP23229 |swivel arm unlocking system
6 TOP23454 |screw-in cup @130x@45x39-78
7 TOP23508 |[swivel arm 3,5t long
8 TOP30151 |swivel arm plate 3.5t
9 TOP30065 |[sliding disc d 40x2
10 TOP30297 |rupper support dm 120
11 TOP30470 |[support carrier 3,5t TK80 M20
12 TOP80208 |flathead screw M12x80 8.8vz
13 TOP80108 |cylindric screw M8x16
14 TOP80101 |cylindric screw DIN 912 M10x16 vz
15 TOP80251 |threaded bolt M16x60 A2
16 TOP80512 |[flatnut M16 vz
17 TOP80103 |cylindric screw DIN912 M20x50 vz

nnnnnnnnnnnnnnnn

E120881

support
SL235RA

01.02.2003




